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E#AIEE 1,793, 692
ABEF 1, 666, 500
EEAGE 1, 666, 500
{ERETE 75 1 151, 220
LUTEE ] 1 56, 450
hRTEE E] 3 152, 550
BRGMARHTEE El 1 56, 450
WA 75 1 200, 200 +0.3
PRFOEE m 2000 13,831 +0.3
T DB FEDHAE m 2000 17,783 +0.3
BYDEELRFROFE F 2 3,040
HEF|EHERERE (H4)) m 2000 17,783 +0.3
ARHFEGEEREER m 2000 7,600
B RFER m 2000 66,112 |+0.3
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TSR SRR E A m 2000 23,711 +0. 3
AMEE R DRE m 2000 45,997 +0.3
RRAE (R m 2000 80,496 +0.3
RAERREMERE m 2000 42,661 +0.3
EIEFTRE (B m 2000 73,386 +0.3
RtRAR (RE) m 2000 39, 438
Rt E m 2000 18,910
T HERE AL m 1000 8,891 +0.3
IERERXETE m 2000 12,762 +0.3
X R AT AR AR m 2000 36, 053 #pria%p
T RAEEERL m 2000 108, 680 +0. 3
BERARAE m 2000 50, 652 +0.3
NHEAMEREITEE 75 1 199, 660
A8 M7 T [ 4 km 0.15 96, 738 +0
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KRB EVERK km 0.15 25,068
R EE A km 0.15 48,978
IR AHHEZ ERE 5 11, 400
E#ERE 127,192
HHE = 1 19, 247
HHEE = 1 15, 382
RE - XEBEE = 1 9,332
BFRRAIERE £ 1 60, 000
REEES = 1 23, 231
MENEE 1,535, 808
ERE 1,535, 808
EEE = 1 1,535, 808
IR ANHE ERE 5 40, 500
B HE R A 2,799, 252
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LITEE GRIES) ] 1 87,500
HRETEE GRIES) B 5 431, 500
RERMARTEE CGRIES) El 1 87, 500
EEFTEEDER GRESN) 75 1 48,070
mEE (EHH) EX: 1 87, 500
NEZYHFEE (A) & 1 263, 326 1304 L£200K
REEWRAE (C) B 1 142,909 7010 E1305K i
MHTI/EH (EEB) F 1 134,235 150LL £ 200K i
e TAEH (JR3L) BT 1 81,839
IMARRE (FHRMH) m 100 10,446 1.00
FBEEICEY SHE HH 1 8, 856
BERE (—RER) F 1 40, 745
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BISRE (BEME) HH 2 49, 276
Wt pkE (T HhET) e 1 93, 408
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REMMEEE RAEH 1 297,112
HR Gt Lt 28 SR 1R AL [Epi] 3 43, 360
ISR EREER [Edpi] 2 15,928
EERE 229, 000
HHE = 1 179,909
RE - XBE = 1 49, 091
el R Al , 384,080
€ O fth R 1 = 1 , 384, 080
—REEEE , 246, 668
—REEEF £ 1 , 246, 668
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